IDEAL STOICHIOMETRY PARTNER ACTIVITY: Work with a partner on solving these problems using
Bimensional Analysis. You will be able to work together on the quiz next class as well, Honors

Mole-Mole Problems
1. Nz +3H2: - 2NH3

How many(folg3 o1 hydrogen are needed to completely react with two moles itrogen?
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2. 2KClO; — 2KCl + 30, =
How many(imoles of oxygemare produced by the decomposﬁr:on of six moles of potassium
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3. Zn+ 2HC| - ZnCl; + H:

How manyoles of hydrogemare produced from the reaction of three moles of zinc with an
excess of hydrochloric acid?
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4. C3Hs + 50O, —» 3CO; + 4H,0

How many (noles of oxygenare necessary fo react completely with four moles of propane
(CsHs)? / ™

Volume-Volume Problems
5. Nz +3H2 —> 2NH3

What golume of hydrogen)is necessary to react with five liters of nitrogen to prod/meammoma

at STP? SLNz[ImeIN2 | 3molH; |22 4L, J IBL W
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6. What volume of ammonia is produced in the reaction in problem 5?
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7. CsHs + 50, — 3C0O: + 4H.0
If 20 liters of oxygen are consumed in the above reaction, how many\i

are produced? 20L02 | Imel Oz | 3ew\CO, | 22.ULCO, [/ 2L \
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8. 2C0 + Oz —» 2C0:;
How many(.hlecs_ais:nr‘bmdloxhare produced |f 75 liters of carbon monoxide are burned in

oxygen? How mcmy liters of: oxygen are necessaryy
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Mass-Mass Problems
9. 2KClIO3 —> 2KC| + 302
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10. N2 +3H2 — 2NH;
How many @rams of hydrogerare necessary to react completely with 50.0 g of nitrogen in the
above reaction?
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11. How many grams of ammonia are produced in the reaction in problem 10?
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12. 2AgNO; + BaClz — 2AgCl + Ba(NOs).

How many/grams of silver chloride)are produced from 5.0 g of silver nitrate reacting with an
excess of barium chloride?
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Mixed Problems
13. N2 +3Hz2 —» 2NH3

Wha‘r@me of ammonia at Sﬁ is produced if 25,0 g of nitrogen gas is reacted with an excess
of hydrogen gas?
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14, 2KCIOs — 2KCl + 30,

i 8@gof pptassium chlorate is decomposed, whath pr‘oduced at STP?
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8. How many grams of potassium chloride are produced in problem 147
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16. 2A|CI3 — 2Al + 3Cl2

If 10.0 g of aluminum chloride are decomposed, how man@ ecules of chlor@are
produced?
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Stoichiometry with Aqueous Solutions and Gases ) Vs
17. If I combined calcium hydroxide with 0.0750 L of 0.500 M HCI, how many grams of calcium

chloride would be formed? Werite the balanced equations: Ca(OH)_: 2R\ ""'7 C’“C“Z_ + 1—“]_0
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18. Calcium carbonate decomposes at high temperatures to form carbon dioxide and calcium oxide.
How many(ﬁrams of calcium carbonate will I need to form 3.45 liters of carbon dioxide at STP?
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19. Ethylene (C2Hs) burns in oxygen to form carbon dioxide and water vapor. How manyliters of
watep/can be formed if 1.25 liters of ethylens-ere cangumed in this reaction at STP?
CoMy + 30, — ZCOL + 24,0 A .
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20. When chlorine is added to acetylene, 1,1,2,2-tetrachloroethane is formed: N

2Clyg) + CaHzg) > C2H2Clag)
How many liters of chlorine will be needed to make 75.0 grams of CzHzCls?
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